

Office of Institutional Research and Assessment

Summary: All Courses

Semester	Course type	Seats	Completion	Success
Spring 2023	Traditional	4514	84%	82%
	Online	2600	85%	76%
	Virtual	633	91%	81%
	ITV	444	90%	82%
	Hybrid	52	90%	60%



Office of Institutional Research and Assessment

Accounting: ACCT

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	w	AW	AU	ı	Completion	Success
ACCT 1133	Online	3	5	15	1	1	1	0	2	0	0	0	0	100%	60%
ACCT 1203	Traditional	3	8	24	2	2	2	1	0	1	0	0	0	88%	75%
ACCT 2003	Traditional	3	139	417	80	23	17	7	5	5	2	0	0	95%	86%
ACCT 2103	Total	3	96	288	26	28	12	5	3	16	6	0	0	77%	69%
	Traditional	3	53	159	15	21	3	4	2	7	1	0	0	85%	74%
	Online	3	28	84	3	7	6	1	1	6	4	0	0	64%	57%
	Virtual	3	-	-	-	-	-	-	-	-	-	-	-	-	-
	ITV	3	15	45	8	0	3	0	0	3	1	0	0	73%	73%
ACCT 2203	Total	3	79	237	19	26	20	6	1	3	4	0	0	91%	82%
	Traditional	3	33	99	11	12	8	1	0	0	1	0	0	97%	94%
	Online	3	34	102	5	10	8	5	1	2	3	0	0	85%	68%
	Virtual	3	5	15	1	1	2	0	0	1	0	0	0	80%	80%
	ITV	3	7	21	2	3	2	0	0	0	0	0	0	100%	100%



Office of Institutional Research and Assessment

Agriculture: AGRI

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	W	AW	AU		Completion	Success
<b>AGRI 1113</b>	Traditional	4	15	60	4	5	4	2	0	0	0	0	0	100%	87%
<b>AGRI 1124</b>	Traditional	4	9	36	2	3	2	1	0	1	0	0	0	89%	78%
<b>AGRI 1223</b>	Traditional	4	14	56	3	6	4	1	0	0	0	0	0	100%	93%
<b>AGRI 2124</b>	Traditional	4	14	56	12	2	0	0	0	0	0	0	0	100%	100%
<b>AGRI 2222</b>	Traditional	4	8	32	6	1	1	0	0	0	0	0	0	100%	100%
<b>AGRI 2303</b>	Hybrid	3	13	39	13	0	0	0	0	0	0	0	0	100%	100%
<b>AGRI 2431</b>	Traditional	1	5	5	5	0	0	0	0	0	0	0	0	100%	100%
<b>AGRI 2523</b>	Traditional	3	16	48	16	0	0	0	0	0	0	0	0	100%	100%



Office of Institutional Research and Assessment

Art: ARTS

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	w	AW	AU		Completion	Success
ARTS 1113	Total	3	77	231	21	23	13	5	4	7	4	0	0	86%	74%
	Traditional	3	12	36	6	2	4	0	0	0	0	0	0	100%	100%
	Online	3	47	141	10	18	7	3	3	3	3	0	0	87%	74%
	Virtual	3	-	-	-	-	-	-	-	-	-	-	-	-	-
	ITV	3	18	54	5	3	2	2	1	4	1	0	0	72%	56%
ARTS 1203	Traditional	3	13	39	4	2	3	3	0	1	0	0	0	92%	69%
ARTS 1313	Traditional	3	3	9	1	2	0	0	0	0	0	0	0	100%	100%
ARTS 2333	Traditional	3	10	30	1	5	0	0	0	1	0	3	0	86%	86%
ARTS 2433	Traditional	1	4	4	3	0	0	0	0	0	0	1	0	100%	100%
ARTS 2951	Traditional	1	5	5	5	0	0	0	0	0	0	0	0	100%	100%



Office of Institutional Research and Assessment

Astronomy: ASTR

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	C	D	F	w	AW	AU	ı	Completion	Success
<b>ASTR 1014</b>	Traditional	4	32	128	20	5	3	3	0	1	0	0	0	97%	88%



Office of Institutional Research and Assessment

Business Management: BADM

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	C	D	F	W	AW	AU	ı	Completion	Success
<b>BADM 1103</b>	Total	3	66	198	17	12	13	5	3	10	6	0	0	76%	64%
	Traditional	3	14	42	7	4	1	2	0	0	0	0	0	100%	86%
	Online	3	31	93	6	4	8	2	1	5	5	0	0	68%	58%
	Virtual	3	4	12	0	0	1	0	2	1	0	0	0	75%	25%
	ITV	3	17	51	4	4	3	1	0	4	1	0	0	71%	65%
<b>BADM 1113</b>	Total	3	232	696	111	42	32	7	1	13	26	0	0	83%	80%
	Traditional	3	151	453	80	24	22	5	0	5	15	0	0	87%	83%
	Online	3	81	243	31	18	10	2	1	8	11	0	0	77%	73%
	Virtual	3	-	-	-	-	-	-	-	-	-	-	-	-	-
	ITV	3	-	-	-	-	-	-	-	-	-	-	-	-	-
BADM 2113	Online	3	20	60	11	4	1	0	0	0	4	0	0	80%	80%
<b>BADM 2313</b>	Online	3	11	33	7	1	2	0	0	0	1	0	0	91%	91%



Office of Institutional Research and Assessment

Biology: BIOL

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	W	AW	AU	,	Completion	Success
<b>BIOL 1114</b>	Total	4	203	812	42	41	45	28	14	20	13	0	0	84%	63%
	Traditional	4	117	468	13	26	31	17	8	13	9	0	0	81%	60%
	Online	4	74	296	27	15	12	8	3	5	4	0	0	88%	73%
	Virtual	4	3	12	2	0	0	0	1	0	0	0	0	100%	67%
	ITV	4	-	-	-	-	-	-	-	-	-	-	-	-	-
	Hybrid	4	9	36	0	0	2	3	2	2	0	0	0	78%	22%
<b>BIOL 1124</b>	Traditional	4	9	36	1	1	3	0	0	3	1	0	0	56%	56%
<b>BIOL 1214</b>	Total	4	62	248	22	22	8	2	1	4	3	0	0	89%	84%
	Traditional	4	24	96	9	11	3	1	0	0	0	0	0	100%	96%
	Online	4	38	152	13	11	5	1	1	4	3	0	0	82%	76%
<b>BIOL 1314</b>	Traditional	4	10	40	4	3	1	2	0	0	0	0	0	100%	80%
<b>BIOL 1414</b>	Traditional	4	23	92	9	6	2	0	3	3	0	0	0	87%	74%
<b>BIOL 2104</b>	Total	4	73	292	25	21	14	4	0	7	2	0	0	88%	82%
	Traditional	4	65	260	24	19	12	3	0	5	2	0	0	89%	85%
	Online	4	-	-	-	-	-	-	-	-	-	-	-	-	-
	Virtual	4	8	32	1	2	2	1	0	2	0	0	0	75%	63%
	ITV	4	-	-	-	-	-	-	-	-	-	-	-	-	-



Office of Institutional Research and Assessment

Biology:

Continued

Course BIOL 2124	Total	P Credit hours	Enrolled	Credit Hours Generated	A 9	B 12	C 19	D 0	F 2	W 4	AW 0	AU 0	0	Completion	Saccess 87%
2102 222 1	Traditional	4	29	116	9	8	10	0	1	1	0	0	0	97%	93%
	Online	4	13	52	0	2	7	0	1	3	0	0	0	77%	69%
	Virtual	4	4	16	0	2	2	0	0	0	0	0	0	100%	100%
	ITV	4	_	-	_	_	_	_	_	_	_	_	_	-	_
<b>BIOL 2204</b>	Total	4	44	176	13	12	8	5	0	6	0	0	0	86%	75%
	Traditional	4	42	168	13	12	7	4	0	6	0	0	0	86%	76%
	Online	4	-	-	-	-	-	-	-	-	-	-	-	-	-
	Virtual	4	2	8	0	0	1	1	0	0	0	0	0	100%	50%
	ITV		-	-	-	-	-	-	-	-	-	-	-	-	-
<b>BIOL 2214</b>	Total	4	51	204	4	8	17	6	2	10	4	0	0	73%	57%
	Traditional	4	32	128	3	5	10	4	1	8	1	0	0	72%	56%
	Online	4	18	72	1	3	6	2	1	2	3	0	0	72%	56%
	Virtual	4	1	4	0	0	1	0	0	0	0	0	0	100%	100%
	ITV	4	-	-	-	-	-	-	-	-	-	-	-	-	-
BIOL 2403	Traditional	3	5	15	3	2	0	0	0	0	0	0	0	100%	100%



Office of Institutional Research and Assessment

Child Development: CHDV

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	W	AW	AU	ı	Completion	Success
CHDV 1023	Online	3	31	93	16	5	0	0	0	4	6	0	0	68%	68%
CHDV 1053	Online	3	24	72	13	6	0	0	1	3	1	0	0	83%	79%
CHDV 2013	Online	3	39	117	14	6	6	3	1	4	5	0	0	77%	67%
CHDV 2023	Online	3	31	93	6	6	6	1	4	6	2	0	0	74%	58%
CHDV 2143	Online	3	2	6	0	0	1	0	0	0	1	0	0	50%	50%
CHDV 2243	Online	3	33	99	10	7	6	4	0	4	2	0	0	82%	70%
CHDV 2313	Online	3	21	63	13	2	2	1	0	3	0	0	0	86%	81%



Office of Institutional Research and Assessment

Chemistry: CHEM

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	W	AW	AU	ı	Completion	Success
CHEM 1014	Total	4	21	84	1	6	10	2	0	2	0	0	0	90%	81%
	Traditional	4	12	48	0	0	8	2	0	2	0	0	0	83%	67%
	Online	4	9	36	1	6	2	0	0	0	0	0	0	100%	100%
	Virtual	4	-	-	-	-	-	-	-	-	-	-	-	-	-
	ITV	4	-	-	-	-	-	-	-	-	-	-	-	-	-
CHEM 1315	Total	5	157	785	20	31	42	15	3	36	10	0	0	71%	59%
	Traditional	5	127	635	20	30	33	6	2	28	8	0	0	72%	65%
	Online	5	21	105	0	1	6	7	1	4	2	0	0	71%	33%
	Virtual	5	9	45	0	0	3	2	0	4	0	0	0	56%	33%
	ITV	5	-	-	-	-	-	-	-	-	-	-	-	-	-
CHEM 1414	Total	4	27	108	5	10	6	4	0	2	0	0	0	93%	78%
	Traditional	4	12	48	2	5	3	0	0	2	0	0	0	83%	83%
	Online	4	-	-	-	-	-	-	-	-	-	-	-	-	-
	Virtual	4	15	60	3	5	3	4	0	0	0	0	0	100%	73%
	ITV	4	-	-	-	-	-	-	-	-	-	-	-	-	-
<b>CHEM 2014</b>	Traditional	4	12	48	2	5	3	2	0	0	0	0	0	100%	83%



Office of Institutional Research and Assessment

Computer Sciences: CMSC

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	W	AW	AU	ı	Completion	Success
CMSC 1013	Virtual	3	14	42	8	2	1	0	3	0	0	0	0	100%	79%
		_					_	_			_	_	_		
CMSC 1113	Total	3	68	204	35	18	4	1	3	2	5	0	0	90%	84%
	Traditional	3	22	66	12	6	2	1	1	0	0	0	0	100%	91%
	Online	3	46	138	23	12	2	0	2	2	5	0	0	85%	80%
	Virtual	3	-	-	-	-	-	-	-	-	-	-	-	-	-
	ITV	3	-	-	-	-	-	-	-	-	-	-	-	-	-
CMSC 2123	Total	3	83	249	43	21	7	6	0	3	3	0	0	93%	86%
	Traditional	3	53	159	32	13	2	4	0	2	0	0	0	96%	89%
	Online	3	30	90	11	8	5	2	0	1	3	0	0	87%	80%
	Virtual	3	-	-	-	-	-	-	-	-	-	-	-	-	-
	ITV	3	-	-	-	-	-	-	-	-	-	-	-	-	-
CMSC 2303	Virtual	3	14	42	5	2	1	0	6	0	0	0	0	100%	<b>57</b> %



Office of Institutional Research and Assessment

Communications: COMM

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	W	AW	AU	,	Completion	Success
<b>COMM 1713</b>	Total	3	170	510	128	14	7	8	4	4	5	0	0	95%	88%
	Traditional	3	97	291	77	8	2	3	1	3	3	0	0	94%	90%
	Online	3	49	147	33	3	5	3	3	1	1	0	0	96%	84%
	Virtual	3	10	30	6	2	0	2	0	0	0	0	0	100%	80%
	ITV	3	14	42	12	1	0	0	0	0	1	0	0	93%	93%
<b>COMM 2213</b>	Total	3	12	36	6	5	1	0	0	0	0	0	0	100%	100%
	Traditional	3	8	24	3	4	1	0	0	0	0	0	0	100%	100%
	Online	3	-	-	-	-	-	-	-	-	-	-	-	-	-
	Virtual	3	4	12	3	1	0	0	0	0	0	0	0	100%	100%
	ITV	3	_	-	_	-	_	_	_	_	_	_	_	_	_



Office of Institutional Research and Assessment

Criminal Justice Administration: CRMJ

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	C	D	F	w	AW	AU	ı	Completion	Success
<b>CRMJ 1113</b>	Total	3	43	129	28	11	3	1	0	0	0	0	0	100%	98%
	Traditional	3	8	24	5	2	1	0	0	0	0	0	0	100%	100%
	Online	3	28	84	20	7	0	1	0	0	0	0	0	100%	96%
	Virtual	3	1	3	1	0	0	0	0	0	0	0	0	100%	100%
	ITV	3	6	18	2	2	2	0	0	0	0	0	0	100%	100%
<b>CRMJ 1223</b>	Online	3	15	45	11	3	1	0	0	0	0	0	0	100%	100%
CRMJ 1333	Total	3	13	39	6	0	4	1	2	0	0	0	0	100%	77%
	Traditional	3	2	6	1	0	1	0	0	0	0	0	0	100%	100%
	Online	3	-	-	-	-	-	-	-	-	-	-	-	-	-
	Virtual	3	-	-	-	-	-	-	-	-	-	-	-	-	-
	ITV	3	11	33	5	0	3	1	2	0	0	0	0	100%	73%
CRMJ 1523	Online	3	16	48	8	3	0	1	3	0	1	0	0	94%	69%
CRMJ 2113	Total	3	15	45	8	1	3	1	2	0	0	0	0	100%	80%
	Traditional	3	5	15	4	1	0	0	0	0	0	0	0	100%	100%
	Online	3	-	-	-	-	-	-	-	-	-	-	-	-	-
	Virtual	3	1	3	1	0	0	0	0	0	0	0	0	100%	100%
	ITV	3	9	27	3	0	3	1	2	0	0	0	0	100%	67%



Office of Institutional Research and Assessment

Data Analytics DATA

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	W	AW	AU	ı	Completion	Success
<b>DATA 1123</b>	Online	3	5	15	5	0	0	0	0	0	0	0	0	100%	100%



Office of Institutional Research and Assessment

Learning Assistance: DEVS

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	C	D	F	W	AW	AU	ı	Completion	Success
<b>DEVS 1112</b>	Total	2	20	40	13	4	0	0	0	1	2	0	0	85%	85%
	Traditional	2	1	2	1	0	0	0	0	0	0	0	0	100%	100%
	Online	2	13	26	7	3	0	0	0	1	2	0	0	77%	77%
	Virtual	2	1	2	0	1	0	0	0	0	0	0	0	100%	100%
	ITV	2	5	10	5	0	0	0	0	0	0	0	0	100%	100%



Data Source: J1

# NOC Course Enrollment and Grade Report Semester: Spring 2023

Office of Institutional Research and Assessment

Digital Media, Animation and Design: DMAD

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	W	AW	AU	ı	Completion	Success
DMAD 1133	Tranditional	3	8	24	4	2	2	0	0	0	0	0	0	100%	100%
<b>DMAD 1233</b>	Tranditional	3	8	24	4	4	0	0	0	0	0	0	0	100%	100%
DMAD 2333	Tranditional	3	6	18	3	2	1	0	0	0	0	0	0	100%	100%
<b>DMAD 2353</b>	Tranditional	3	6	18	3	3	0	0	0	0	0	0	0	100%	100%
DMAD 2383	Tranditional	3	6	18	5	1	0	0	0	0	0	0	0	100%	100%
<b>DMAD 2393</b>	Tranditional	3	6	18	5	1	0	0	0	0	0	0	0	100%	100%



Office of Institutional Research and Assessment

Economics: ECON

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	W	AW	AU	ı	Completion	Success
<b>ECON 2113</b>	Total	3	81	243	47	13	12	1	1	5	2	0	0	91%	89%
	Traditional	3	43	129	21	7	11	0	1	3	0	0	0	93%	91%
	Online	3	22	66	14	4	1	1	0	2	0	0	0	91%	86%
	Virtual	3	1	3	0	0	0	0	0	0	1	0	0	0%	0%
	ITV	3	15	45	12	2	0	0	0	0	1	0	0	93%	93%
<b>ECON 2123</b>	Total	3	72	216	37	20	4	1	1	5	4	0	0	88%	85%
	Traditional	3	35	105	17	10	4	1	1	1	1	0	0	94%	89%
	Online	3	26	78	15	5	0	0	0	4	2	0	0	77%	77%
	Virtual	3	2	6	0	2	0	0	0	0	0	0	0	100%	100%
	ITV	3	9	27	5	3	0	0	0	1	0	0	0	89%	89%



Office of Institutional Research and Assessment

English: ENGL

Course ENGL 0122	Total	Credit hours	Enrolled	Credit Hours Generated	A 15	B 2	C 7	D 1	F 1	W 0	AW 1	AU 0	0	Completion	Snccess
	Traditional	2	4	8	1	1	1	1	0	0	0	0	0	100%	75%
	Online	2	-	-	-	-	-	-	-	-	-	-	-	-	-
	Virtual	2	13	26	8	1	3	0	1	0	0	0	0	100%	92%
	ITV	2	10	20	6	0	3	0	0	0	1	0	0	90%	90%
<b>ENGL 0133</b>	Total	3	69	207	16	23	13	4	5	3	5	0	0	88%	75%
	Traditional	3	55	165	14	16	9	4	5	3	4	0	0	87%	71%
	Online	3		-										-	-
	Virtual	3	7	21	1	3	2	0	0	0	1	0	0	86%	86%
	ITV	3	1	3	1	0	0	0	0	0	0	0	0	100%	100%
	Hybrid	3	6	18	0	4	2	0	0	0	0	0	0	100%	100%
<b>ENGL 1113</b>	Total	3	166	498	70	41	23	10	6	4	12	0	0	90%	81%
	Traditional	3	78	234	30	21	14	4	0	1	8	0	0	88%	83%
	Online	3	60	180	26	14	6	4	5	2	3	0	0	92%	77%
	Virtual	3	13	39	5	3	2	1	0	1	1	0	0	85%	77%
	ITV	3	6	18	4	2	0	0	0	0	0	0	0	100%	100%
	Hybrid	3	9	27	5	1	1	1	1	0	0	0	0	100%	78%



Office of Institutional Research and Assessment

English:

Continued

ENGL

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	W	AW	AU	ı	Completion	Success
ENGL 1213	Total	3	608	1824	303	132	64	33	15	34	27	0	0	90%	82%
	Traditional	3	344	1032	172	82	35	14	6	19	16	0	0	90%	84%
	Online	3	152	456	77	30	16	7	4	12	6	0	0	88%	81%
	Virtual	3	67	201	32	13	10	8	0	0	4	0	0	94%	82%
	ITV	3	30	90	19	7	3	0	0	0	1	0	0	97%	97%
	Hybrid	3	15	45	3	0	0	4	5	3	0	0	0	80%	20%
ENGL 1223	Online	3	9	27	4	2	2	0	0	0	1	0	0	89%	89%
ENGL 1413	Total	3	56	168	43	3	4	1	0	0	5	0	0	91%	89%
	Traditional	3	20	60	16	2	1	1	0	0	0	0	0	100%	95%
	Online	3	25	75	16	1	3	0	0	0	5	0	0	80%	80%
	Virtual	3	3	9	3	0	0	0	0	0	0	0	0	100%	100%
	ITV	3	8	24	8	0	0	0	0	0	0	0	0	100%	100%
ENGL 2423	Online	3	11	33	11	0	0	0	0	0	0	0	0	100%	100%
ENGL 2453	Online	3	5	15	5	0	0	0	0	0	0	0	0	100%	100%
<b>ENGL 2543</b>	Total	3	11	33	6	3	1	1	0	0	0	0	0	100%	91%
	Traditional	3	-	-	-	-	-	-	-	-	-	-	-	-	-
	Online	3	6	18	3	3	0	0	0	0	0	0	0	100%	100%
	Virtual	3	5	15	3	0	1	1	0	0	0	0	0	100%	80%
	ITV	3	-	-	-	-	-	-	-	-	-	-	-	-	-



Office of Institutional Research and Assessment

English: ENGL

Data Source: J1

Continued

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	W	AW	AU	ı	Completion	Success
<b>ENGL 2883</b>	Total	3	18	54	15	2	0	0	1	0	0	0	0	100%	94%
	Traditional	3	-	-	-	-	-	-	-	-	-	-	-	-	-
	Online	3	10	30	8	2	0	0	0	0	0	0	0	100%	100%
	Virtual	3	8	24	7	0	0	0	1	0	0	0	0	100%	88%
	ITV	3	-	-	_	-	_	-	_	_	-	_	-	_	-



Office of Institutional Research and Assessment

Pre-Engineering: ENGR

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	C	D	F	W	AW	AU	ı	Completion	Success
<b>ENGR 1111</b>	Total	1	10	10	5	1	1	0	0	1	2	0	0	70%	70%
	Traditional	1	6	6	3	1	1	0	0	1	0	0	0	83%	83%
	Online	1	-	-	-	-	-	-	-	-	-	-	-	-	-
	Virtual	1	2	2	0	0	0	0	0	0	2	0	0	0%	0%
	ITV	1	2	2	2	0	0	0	0	0	0	0	0	100%	100%
<b>ENGR 2111</b>	Traditional	3	13	39	9	2	1	0	0	1	0	0	0	92%	92%
<b>ENGR 2113</b>	Total	3	13	39	7	5	0	0	0	1	0	0	0	92%	92%
	Traditional	3	9	27	6	3	0	0	0	0	0	0	0	100%	100%
	Online	3	-	-	-	-	-	-	-	-	-	-	-	-	-
	Virtual	3	2	6	1	0	0	0	0	1	0	0	0	50%	50%
	ITV	3	2	6	0	2	0	0	0	0	0	0	0	100%	100%



Office of Institutional Research and Assessment

Earth Science: ESCI

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	W	AW	AU		Completion	Success
ESCI 1214	Total	4	171	684	87	33	19	20	3	2	7	0	0	95%	81%
	Traditional	4	97	388	56	15	9	10	2	1	4	0	0	95%	82%
	Online	4	74	296	31	18	10	10	1	1	3	0	0	95%	80%
	Virtual	4	-	-	-	-	-	-	-	-	-	-	-	-	-
	ITV	4	-	-	-	-	-	-	-	-	-	-	-	-	-



Office of Institutional Research and Assessment

Geography: GEOG

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	W	AW	AU		Completion	Success
<b>GEOG 2253</b>	Total	3	43	129	29	4	6	1	0	1	2	0	0	93%	91%
	Traditional	3	12	36	10	1	1	0	0	0	0	0	0	100%	100%
	Online	3	23	69	16	1	2	1	0	1	2	0	0	87%	83%
	Virtual	3	8	24	3	2	3	0	0	0	0	0	0	100%	100%
	ITV	3	-	_	_	_	_	_	_	_	_	_	_	-	_



Office of Institutional Research and Assessment

Global: GLBL

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	w	AW	AU		Completion	Success
<b>GLBL 2123</b>	Online	3	9	27	9	0	0	0	0	0	0	0	0	100%	100%
<b>GLBL 2133</b>	Online	3	25	75	11	5	0	2	0	3	4	0	0	72%	64%



Office of Institutional Research and Assessment

History: HIST

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	W	AW	AU	ı	Completion	Success
HIST 1113	Total	3	33	99	14	9	6	3	1	0	0	0	0	100%	88%
	Traditional	3	22	66	8	7	5	1	1	0	0	0	0	100%	91%
	Online	3	-	-	-	-	-	-	-	-	-	-	-	-	-
	Virtual	3	11	33	6	2	1	2	0	0	0	0	0	100%	82%
	ITV	3	-	-	-	-	-	-	-	-	-	-	-	-	-
HIST 1223	Traditional	3	11	33	5	4	1	0	1	0	0	0	0	100%	91%
HIST 1483	Total	3	168	504	49	36	26	18	14	17	8	0	0	85%	66%
	Traditional	3	76	228	29	13	16	6	5	3	4	0	0	91%	76%
	Online	3	50	150	11	11	4	5	7	8	4	0	0	76%	52%
	Virtual	3	39	117	9	12	6	4	2	6	0	0	0	85%	69%
	ITV	3	3	9	0	0	0	3	0	0	0	0	0	100%	0%
HIST 1493	Total	3	289	867	112	66	49	17	20	10	15	0	0	91%	79%
11131 1433	Traditional	3	170	510	70	36	28	11	12	6	7	0	0	92%	79%
	Online	3	77	231	26	20	15	2	3	4	7	0	0	86%	79%
	Virtual	3	11	33	4	2	2	2	1	0	0	0	0	100%	73%
	ITV	3	31	93	12	8	4	2	4	0	1	0	0	97%	77%



Office of Institutional Research and Assessment

Health Studies: HLST

Course HLST 1113	Online	3 Cre	76	228	A 37	B 12	C 7	D 3	F 2	W 8	AW 7	AU 0	0	80%	74%
		dit hours	pelled	dit Hours erated										npletion	cess



Data Source: J1

# NOC Course Enrollment and Grade Report Semester: Spring 2023

Office of Institutional Research and Assessment

Health and Physical Education Theory: HPET

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	W	AW	AU		Completion	Success
<b>HPET 1113</b>	Traditional	3	31	93	16	8	3	4	0	0	0	0	0	100%	87%
HPET 1142	Traditional	2	15	30	8	5	1	1	0	0	0	0	0	100%	93%
<b>HPET 1223</b>	Total	3	60	180	24	18	9	2	5	0	2	0	0	97%	85%
	Traditional	3	29	87	14	8	3	2	2	0	0	0	0	100%	86%
	Online	3	23	69	8	6	5	0	3	0	1	0	0	96%	83%
	Virtual	3	8	24	2	4	1	0	0	0	1	0	0	88%	88%
	ITV	3	-	-	-	-	-	-	-	-	-	-	-	-	-
HPET 1242	Traditional	2	5	10	5	0	0	0	0	0	0	0	0	100%	100%
HPET 1243	Traditional	3	5	15	4	1	0	0	0	0	0	0	0	100%	100%
HPET 1950	Traditional	1	14	14	9	0	1	2	1	1	0	0	0	93%	71%
HPET 2053	Traditional	3	25	75	20	3	1	0	0	1	0	0	0	96%	96%
<b>HPET 2212</b>	Traditional	2	44	88	18	18	6	2	0	0	0	0	0	100%	95%
	Traditional	2	33	66	16	12	5	0	0	0	0	0	0	100%	100%
	Online	2	-	-	-	-	-	-	-	-	-	-	-	-	-
	Virtual	2	11	22	2	6	1	2	0	0	0	0	0	100%	82%
	ITV	2	-	-	-	-	-	-	-	-	-	-	-	-	-



Data Source: J1

# NOC Course Enrollment and Grade Report Semester: Spring 2023

Office of Institutional Research and Assessment

Health and Physical Education Theory: Continued HPET

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	W	AW	AU	ı	Completion	Success
<b>HPET 2482</b>	Traditional	2	12	24	12	0	0	0	0	0	0	0	0	100%	100%
<b>HPET 2633</b>	Total	3	39	117	26	6	5	1	0	1	0	0	0	97%	95%
	Traditional	3	34	102	22	6	4	1	0	1	0	0	0	97%	94%
	Online	3	-	-	-	-	-	-	-	-	-	-	-	-	-
	Virtual	3	5	15	4	0	1	0	0	0	0	0	0	100%	100%
	ITV	3	_	_	_	_	_	_	_	_	_	_	_	_	_



Office of Institutional Research and Assessment

Humanities: HUMN

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	C	D	F	w	AW	AU	ı	Completion	Success
<b>HUMN 1133</b>	Total	3	60	180	29	12	14	2	0	0	3	0	0	95%	92%
	Traditional	3	29	87	8	8	9	2	0	0	2	0	0	93%	86%
	Online	3	-	-	-	-	-	-	-	-	-	-	-	-	-
	Virtual	3	24	72	18	4	1	0	0	0	1	0	0	96%	96%
	ITV	3	7	21	3	0	4	0	0	0	0	0	0	100%	100%
HUMN 2103	Traditional	3	19	57	7	5	2	1	1	2	1	0	0	84%	74%
	<b>*</b> !	•		422	24	40	•	4	•	4	•	•	•	000/	050/
HUMN 2113	Total	3	41	123	24	12	3	1	0	1	0	0	0	98%	95%
	Traditional	3	14	42	8	5	0	0	0	1	0	0	0	93%	93%
	Online	3	23	69	13	6	3	1	0	0	0	0	0	100%	96%
	Virtual	3	4	12	3	1	0	0	0	0	0	0	0	100%	100%
	ITV	3	-	-	-	-	-	-	-	-	-	-	-	-	-
HUMN 2223	Total	3	28	84	14	7	3	1	0	3	0	0	0	89%	86%
	Traditional	3	-	-	_	-	-	-	-	-	-	-	-	-	-
	Online	3	24	72	11	7	3	0	0	3	0	0	0	88%	88%
	Virtual	3	4	12	3	0	0	1	0	0	0	0	0	100%	75%
	ITV	3	-	-	-	-	-	-	-	-	-	-	-	-	-



Office of Institutional Research and Assessment

Languague LANG

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	C	D	F	w	AW	AU	ı	Completion	Success
<b>LANG 1125</b>	Online	5	14	70	4	3	0	0	3	4	0	0	0	71%	50%
<b>LANG 1213</b>	Total	3	6	18	4	1	0	0	0	1	0	0	0	83%	83%
	Traditional	3	-	-	-	-	-	-	-	-	-	-	-	-	-
	Online	3	-	-	-	-	-	-	-	-	-	-	-	-	-
	Virtual	3	5	15	3	1	0	0	0	1	0	0	0	80%	80%
	ITV	3	1	3	1	0	0	0	0	0	0	0	0	100%	100%



Office of Institutional Research and Assessment

Mathematics: MATH

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	C	D	F	w	AW	AU	ı	Completion	Success
MATH 0021	Total	1	33	33	18	7	3	0	0	0	5	0	0	85%	85%
	Traditional	1	22	22	12	6	1	0	0	0	3	0	0	86%	86%
	Online	1	-	-	-	-	-	-	-	-	-	-	-	-	-
	Virtual	1	9	9	5	0	2	0	0	0	2	0	0	78%	78%
	ITV	1	2	2	1	1	0	0	0	0	0	0	0	100%	100%
MATH 0031	Total	1	113	113	59	21	13	1	2	11	6	0	0	85%	82%
	Traditional	1	101	101	52	19	12	1	2	9	6	0	0	85%	82%
	Online	1	-	-	-	-	-	-	-	-	-	-	-	-	-
	Virtual	1	5	5	4	1	0	0	0	0	0	0	0	100%	100%
	ITV	1	7	7	3	1	1	0	0	2	0	0	0	71%	71%
MATH 0122	Total	2	33	66	19	2	3	0	0	4	5	0	0	73%	73%
	Traditional	2	25	50	14	1	3	0	0	4	3	0	0	72%	72%
	Online	2	-	-	-	-	-	-	-	-	-	-	-	-	-
	Virtual	2	2	4	2	0	0	0	0	0	0	0	0	100%	100%
	ITV	2	6	12	3	1	0	0	0	0	2	0	0	67%	67%
MATH 0123	Total	3	66	198	10	11	10	9	10	14	2	0	0	76%	47%
	Traditional	3	57	171	8	9	9	7	10	14	0	0	0	75%	46%
	Online	3	5	15	2	0	1	0	0	0	2	0	0	60%	60%
	Virtual	3	-	-	-	-	-	-	-	-	-	-	-	-	-
	ITV	3	4	12	0	2	0	2	0	0	0	0	0	100%	50%



Office of Institutional Research and Assessment

Mathematics:

Data Source: J1

Continued

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	w	AW	AU	ı	Completion	Success
<b>MATH 1233</b>	Total	3	10	30	6	3	1	0	0	0	0	0	0	100%	100%
	Traditional	3	3	9	1	2	0	0	0	0	0	0	0	100%	100%
	Online	3	-	-	-	-	-	-	-	-	-	-	-	-	-
	Virtual	3	1	3	1	0	0	0	0	0	0	0	0	100%	100%
	ITV	3	6	18	4	1	1	0	0	0	0	0	0	100%	100%
MATH 1483	Total	3	329	987	138	78	47	11	12	27	16	0	0	87%	80%
	Traditional	3	261	783	125	61	35	6	6	19	9	0	0	89%	85%
	Online	3	50	150	8	14	9	5	4	4	6	0	0	80%	62%
	Virtual	3	10	30	5	2	1	0	0	1	1	0	0	80%	80%
	ITV	3	8	24	0	1	2	0	2	3	0	0	0	63%	38%
MATH 1493	Total	3	61	183	15	18	10	5	1	6	6	0	0	80%	70%
	Traditional	3	35	105	9	10	8	2	1	2	3	0	0	86%	77%
	Online	3	15	45	4	6	0	2	0	2	1	0	0	80%	67%
	Virtual	3	9	27	1	1	2	1	0	2	2	0	0	56%	44%
	ITV	3	2	6	1	1	0	0	0	0	0	0	0	100%	100%
MATH 1513	Total	3	331	993	73	74	70	19	18	51	26	0	0	77%	66%
	Traditional	3	233	699	46	47	53	14	15	39	19	0	0	75%	63%
	Online	3	71	213	15	21	14	5	3	7	6	0	0	82%	70%
	Virtual	3	16	48	9	1	2	0	0	3	1	0	0	75%	75%
	ITV	3	11	33	3	5	1	0	0	2	0	0	0	82%	82%



Office of Institutional Research and Assessment

Mathematics:

Data Source: J1

Continued

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	W	AW	AU		Completion	Success
MATH 1613	Total	3	35	105	11	6	10	2	0	3	3	0	0	83%	77%
	Traditional	3	23	69	7	4	8	1	0	0	3	0	0	87%	83%
	Online	3		-										-	-
	Virtual	3	11	33	4	2	1	1	0	3	0	0	0	73%	64%
	ITV	3	1	3	0	0	1	0	0	0	0	0	0	100%	100%
<b>MATH 1813</b>	Traditional	3	16	48	3	8	1	0	1	3	0	0	0	81%	<b>75</b> %
<b>MATH 2023</b>	Total	3	280	840	118	76	43	13	7	14	9	0	0	92%	85%
	Traditional	3	165	495	82	42	21	6	3	5	6	0	0	93%	88%
	Online	3	101	303	31	30	20	6	2	9	3	0	0	88%	80%
	Virtual	3	1	3	0	1	0	0	0	0	0	0	0	100%	100%
	ITV	3	13	39	5	3	2	1	2	0	0	0	0	100%	77%
MATH 2103	Total	3	9	27	3	1	2	1	0	1	1	0	0	78%	67%
	Traditional	3	3	9	1	0	0	1	0	0	1	0	0	67%	33%
	Online	3	-	-	-	-	-	-	-	-	-	-	-	-	-
	Virtual	3	3	9	1	1	1	0	0	0	0	0	0	100%	100%
	ITV	3	3	9	1	0	1	0	0	1	0	0	0	67%	67%



Office of Institutional Research and Assessment

Mathematics:

Data Source: J1

Continued

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	W	AW	AU	,	Completion	Success
MATH 2144	Total	3	36	108	10	7	9	4	0	3	3	0	0	83%	72%
	Traditional	3	30	90	9	5	7	3	0	3	3	0	0	80%	70%
	Online	3	-	-	-	-	-	-	-	-	-	-	-	-	-
	Virtual	3	6	18	1	2	2	1	0	0	0	0	0	100%	83%
	ITV	3	-	-	-	-	-	-	-	-	-	-	-	-	-
MATH 2154	Total	4	13	52	7	4	2	0	0	0	0	0	0	100%	100%
	Traditional	4	8	32	4	3	1	0	0	0	0	0	0	100%	100%
	Online	4	-	-	-	-	-	-	-	-	-	-	-	-	-
	Virtual	4	3	12	2	1	0	0	0	0	0	0	0	100%	100%
	ITV	4	2	8	1	0	1	0	0	0	0	0	0	100%	100%
MATH 2164	Total	4	28	112	15	7	5	0	0	1	0	0	0	96%	96%
	Traditional	4	12	48	7	2	3	0	0	0	0	0	0	100%	100%
	Online	4		-										-	-
	Virtual	4	8	32	5	2	0	0	0	1	0	0	0	88%	88%
	ITV	4	8	32	3	3	2	0	0	0	0	0	0	100%	100%
		_				_	_	_	-			_			
MATH 2233	Total	4	26	104	17	5	4	0	0	0	0	0	0	100%	100%
	Traditional	4	9	36	7	2	0	0	0	0	0	0	0	100%	100%
	Online	4	-	-	-	-	-	-	-	-	-	-	-	-	-
	Virtual	4	9	36	4	2	3	0	0	0	0	0	0	100%	100%
	ITV	4	8	32	6	1	1	0	0	0	0	0	0	100%	100%



Office of Institutional Research and Assessment

Mathematics:

Data Source: J1

Continued

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	W	AW	AU	ı	Completion	Success
MATH 2613	Total	3	20	60	13	3	3	0	0	0	1	0	0	95%	95%
	Traditional	3	9	27	6	1	1	0	0	0	1	0	0	89%	89%
	Online	3	-	-	-	-	-	-	-	-	-	-	-	-	-
	Virtual	3	5	15	3	1	1	0	0	0	0	0	0	100%	100%
	ITV	3	6	18	4	1	1	0	0	0	0	0	0	100%	100%



Office of Institutional Research and Assessment

Mass Communications: MCOM

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	W	AW	AU	ı	Completion	Success
MCOM 1113	Total	3	16	48	16	0	0	0	0	0	0	0	0	100%	100%
	Traditional	3	4	12	4	0	0	0	0	0	0	0	0	100%	100%
	Online	3	-	-	-	-	-	-	-	-	-	-	-	-	-
	Virtual	3	1	3	1	0	0	0	0	0	0	0	0	100%	100%
	ITV	3	11	33	11	0	0	0	0	0	0	0	0	100%	100%
MCOM 1123	Traditional	3	1	3	1	0	0	0	0	0	0	0	0	100%	100%
MCOM 2013	Virtual	3	12	36	10	2	0	0	0	0	0	0	0	100%	100%
MCOM 2240	Traditional	1	2	2	2	0	0	0	0	0	0	0	0	100%	100%



Data Source: J1

# NOC Course Enrollment and Grade Report Semester: Spring 2023

Office of Institutional Research and Assessment

Business Management and Marketing: MGMT & MKTG

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	W	AW	AU	ı	Completion	Success
<b>MGMT 2233</b>	Online	3	18	54	8	3	2	1	3	1	0	0	0	94%	72%
<b>MKTG 2143</b>	ONLINE	3	30	90	14	10	3	0	1	0	2	0	0	93%	90%



Office of Institutional Research and Assessment

Music: MUSC

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	W	AW	AU		Completion	Success
MUSC 1111	Traditional	1	9	9	6	2	0	0	0	1	0	0	0	89%	89%
MUSC 1112	Traditional	2	10	20	8	0	0	0	1	1	0	0	0	90%	80%
<b>MUSC 1113</b>	Total	3	130	390	55	25	26	15	5	4	0	0	0	97%	82%
	Traditional	3	45	135	20	11	4	7	3	0	0	0	0	100%	78%
	Online	3	61	183	27	10	16	5	1	2	0	0	0	97%	87%
	Virtual	3	10	30	2	3	3	1	0	1	0	0	0	90%	80%
	ITV	3	14	42	6	1	3	2	1	1	0	0	0	93%	71%
MUSC 1141	Traditional	1	5	5	2	1	1	1	0	0	0	0	0	100%	80%
MUSC 1143	Traditional	3	5	15	2	0	2	0	1	0	0	0	0	100%	80%
MUSC 1261	Traditional	1	1	1	1	0	0	0	0	0	0	0	0	100%	100%
MUSC 1611	Traditional	1	1	1	1	0	0	0	0	0	0	0	0	100%	100%
MUSC 1721	Traditional	1	5	5	2	0	2	0	1	0	0	0	0	100%	80%
MUSC 1741	Traditional	1	1	1	1	0	0	0	0	0	0	0	0	100%	100%
MUSC 1752	Traditional	1	1	1	0	1	0	0	0	0	0	0	0	100%	100%
MUSC 2040	Traditional	1	1	1	1	0	0	0	0	0	0	0	0	100%	100%
MUSC 2141	Traditional	1	2	2	1	1	0	0	0	0	0	0	0	100%	100%
MUSC 2143	Traditional	1	2	2	2	0	0	0	0	0	0	0	0	100%	100%
MUSC 2331	Traditional	1	5	5	5	0	0	0	0	0	0	0	0	100%	100%
MUSC 2611	Traditional	1	13	13	13	0	0	0	0	0	0	0	0	100%	100%
MUSC 2631	Traditional	1	19	19	17	1	1	0	0	0	0	0	0	100%	100%



Office of Institutional Research and Assessment

Music:

Continued

MUSC

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	W	AW	AU	,	Completion	Success
MUSC 2711	Traditional	1	7	7	7	0	0	0	0	0	0	0	0	100%	100%
MUSC 2731	Traditional	1	32	32	31	0	0	0	0	0	1	0	0	97%	97%
MUSC 2831	Traditional	1	12	7	9	2	1	0	0	0	0	0	0	100%	100%



Office of Institutional Research and Assessment

Nursing: NURS

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	w	AW	AU	ı	Completion	Success
NURS 1114	Online	4	12	48	0	5	3	0	0	4	0	0	0	67%	67%
NURS 1124	Traditional	4	12	48	1	6	1	0	0	4	0	0	0	67%	67%
NURS 1234	Traditional/ITV	4	26	104	0	14	3	0	0	6	3	0	0	65%	65%
NURS 1244	Traditional	4	26	104	3	14	0	0	0	6	3	0	0	65%	65%
NURS 2071	Traditional/ITV	1	26	26	9	6	2	0	0	6	3	0	0	65%	65%
NURS 2415	Traditional/ITV	5	16	80	1	14	0	0	0	0	1	0	0	94%	94%
NURS 2425	Traditional	5	16	80	4	11	0	0	0	0	1	0	0	94%	94%



Office of Institutional Research and Assessment

Nutrition: NUTR

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	W	AW	AU	1	Completion	Success
NUTR 2123	Total	3	58	174	20	15	12	4	2	3	2	0	0	91%	81%
	Traditional	3	6	18	5	1	0	0	0	0	0	0	0	100%	100%
	Online	3	48	144	15	11	11	4	2	3	2	0	0	90%	77%
	Virtual	3	4	12	0	3	1	0	0	0	0	0	0	100%	100%
	ITV	3	_	_	_	_	_	_	_	_	_	_	_	_	_



Office of Institutional Research and Assessment

Orientation: ORNT

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	w	AW	AU		Completion	Success
ORNT 1101	Total	1	99	99	48	10	10	3	3	6	19	0	0	75%	69%
	Traditional	1	40	40	18	5	4	0	3	5	5	0	0	75%	68%
	Online	1	59	59	30	5	6	3	0	1	14	0	0	75%	69%
	Virtual	1	-	-	-	-	-	-	-	-	-	-	-	-	-
	ITV	1	_	-	_	-	-	_	_	_	-	-	-	_	-



Office of Institutional Research and Assessment

Philosophy: PHIL

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	C	D	F	W	AW	AU	ı	Completion	Success
PHIL 2213	Online	3	70	210	45	12	6	3	2	2	0	0	0	97%	90%
PHIL 2223	Total	3	128	384	93	12	5	2	1	6	9	0	0	88%	86%
	Traditional	3	45	135	32	7	3	0	0	1	2	0	0	93%	93%
	Online	3	79	237	58	5	2	2	1	5	6	0	0	86%	82%
	Virtual	3	3	9	2	0	0	0	0	0	1	0	0	67%	67%
	ITV	3	1	3	1	0	0	0	0	0	0	0	0	100%	100%



Office of Institutional Research and Assessment

Physical Science: PHSC

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	C	D	F	W	AW	AU		Completion	Success
PHSC 1114	Total	4	36	144	6	12	8	1	2	5	2	0	0	81%	72%
	Traditional	4	18	72	6	7	1	1	1	2	0	0	0	89%	78%
	Online	4	18	72	0	5	7	0	1	3	2	0	0	72%	67%
	Virtual	4	-	-	-	-	-	-	-	-	-	-	-	-	-
	ITV	4	_	_	_	_	-	_	_	_	_	_	-	_	-



Office of Institutional Research and Assessment

Physics: PHYS

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	W	AW	AU	ı	Completion	Success
PHYS 1114	Virtual	4	19	76	11	2	1	2	0	3	0	0	0	84%	74%
DUVC 1214	Tunditional	•	10	72	1.4	2	2	•	•	•	0	0	•	1000/	1000/
PHYS 1214	Traditional	4	18	72	14	2	2	0	0	0	0	0	0	100%	100%
	Traditional	4	7	28	5	1	1	0	0	0	0	0	0	100%	100%
	Online	4	-	-	-	-	-	-	-	-	-	-	-	-	-
	Virtual	4	7	28	6	0	1	0	0	0	0	0	0	100%	100%
	ITV	4	4	16	3	1	0	0	0	0	0	0	0	100%	100%
PHYS 2014	Total	4	39	156	14	11	5	0	0	8	1	0	0	77%	77%
	Traditional	4	19	76	6	4	4	0	0	4	1	0	0	74%	74%
	Online	4	-	-	-	-	-	-	-	-	-	-	-	-	-
	Virtual	4	5	20	2	1	1	0	0	1	0	0	0	80%	80%
	ITV	4	15	60	6	6	0	0	0	3	0	0	0	80%	80%



Office of Institutional Research and Assessment

Political Science:

Data Source: J1

POLI

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	W	AW	AU	,	Completion	Success
POLI 1113	Total	3	340	1020	107	89	58	27	15	25	19	0	0	87%	75%
	Traditional	3	163	489	51	49	33	12	5	5	8	0	0	92%	82%
	Online	3	119	357	30	28	15	11	9	16	10	0	0	78%	61%
	Virtual	3	34	102	18	7	5	2	0	1	1	0	0	94%	88%
	ITV	3	24	72	8	5	5	2	1	3	0	0	0	88%	75%



Office of Institutional Research and Assessment

Professional Development: PRDV

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	w	AW	AU		Completion	Success
PRDV 1101	Traditional	1	1	1	1	0	0	0	0	0	0	0	0	100%	100%
<b>PRDV 2321</b>	Online	1	67	67	51	10	2	3	0	1	0	0	0	99%	94%



Office of Institutional Research and Assessment

Psychology: PSYC

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	W	AW	AU	ı	Completion	Success
<b>PSYC 1113</b>	Total	3	193	579	77	44	26	8	8	18	12	0	0	84%	76%
	Traditional	3	97	291	25	22	21	6	5	11	7	0	0	81%	70%
	Online	3	56	168	37	10	1	1	1	3	3	0	0	89%	86%
	Virtual	3	34	102	13	10	3	0	2	4	2	0	0	82%	76%
	ITV	3	6	18	2	2	1	1	0	0	0	0	0	100%	83%
PSYC 2213	Total	3	50	150	31	10	2	0	1	3	3	0	0	88%	86%
	Traditional	3	35	105	18	8	2	0	1	3	3	0	0	83%	80%
	Online	3	-	-	-	-	-	-	-	-	-	-	-	-	-
	Virtual	3	15	45	13	2	0	0	0	0	0	0	0	100%	100%
	ITV	3	-	-	-	-	-	-	-	-	-	-	-	-	-
<b>PSYC 2233</b>	Total	3	40	120	16	10	6	2	1	3	2	0	0	88%	80%
	Traditional	3	13	39	6	3	2	0	1	1	0	0	0	92%	85%
	Online	3	23	69	7	7	4	1	0	2	2	0	0	83%	78%
	Virtual	3	4	12	3	0	0	1	0	0	0	0	0	100%	75%
	ITV	3	-	-	-	-	-	-	-	-	-	-	-	-	-
PSYC 2333	Total	3	51	153	24	19	3	0	1	3	1	0	0	92%	90%
	Traditional	3	19	57	6	10	1	0	0	2	0	0	0	89%	89%
	Online	3	23	69	15	5	2	0	0	1	0	0	0	96%	96%
	Virtual	3	6	18	2	3	0	0	0	0	1	0	0	83%	83%
	ITV	3	3	-	1	1	0	0	1	0	0	0	0	100%	67%



Office of Institutional Research and Assessment

Process Technology: PTEC

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	W	AW	AU	ı	Completion	Success
PTEC 1113	Traditional	3	11	33	3	6	0	1	0	1	0	0	0	91%	82%
PTEC 1124	Traditional	4	15	60	11	2	1	0	0	1	0	0	0	93%	93%
PTEC 1313	Traditional	3	21	63	2	8	7	0	0	3	1	0	0	81%	81%
PTEC 2014	Traditional	4	14	56	5	6	3	0	0	0	0	0	0	100%	100%
PTEC 2214	Traditional	4	15	60	12	2	0	0	0	1	0	0	0	93%	93%



Office of Institutional Research and Assessment

Reading: READ

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	C	D	F	W	AW	AU	,	Completion	Success
<b>READ 0123</b>	Total	3	16	48	11	3	1	0	0	0	1	0	0	94%	94%
	Traditional	3	12	36	7	3	1	0	0	0	1	0	0	92%	92%
	Online	3	-	-	-	-	-	-	-	-	-	-	-	-	-
	Virtual	3	4	12	4	0	0	0	0	0	0	0	0	100%	100%
	ITV	3	_	_	_	_	_	_	_	_	_	_	_	_	_



Office of Institutional Research and Assessment

Sociology: SOCI

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	C	D	F	W	AW	AU	ı	Completion	Success
SOCI 1113	Total	3	181	543	<b>76</b>	59	21	2	7	9	6	0	1	92%	86%
	Traditional	3	84	252	36	25	18	0	1	2	2	0	0	95%	94%
	Online	3	75	225	33	22	2	1	6	7	3	0	1	87%	76%
	Virtual	3	20	60	6	12	1	1	0	0	0	0	0	100%	95%
	ITV	3	2	6	1	0	0	0	0	0	1	0	0	50%	50%
SOCI 2223	Total	3	48	144	20	15	6	2	2	1	2	0	0	94%	85%
	Traditional	3	19	57	10	5	2	0	2	0	0	0	0	100%	89%
	Online	3	24	72	7	8	4	2	0	1	2	0	0	88%	79%
	Virtual	3	4	12	2	2	0	0	0	0	0	0	0	100%	100%
	ITV	3	1	3	1	0	0	0	0	0	0	0	0	100%	100%



Office of Institutional Research and Assessment

Theatre: THTR

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	W	AW	AU	,	Completion	Success
THTR 1262	Traditional	3	6	18	4	1	1	0	0	0	0	0	0	100%	100%
THTR 2213	Traditional	3	4	12	2	2	0	0	0	0	0	0	0	100%	100%
THTR 2451	Traditional	3	2	6	1	1	0	0	0	0	0	0	0	100%	100%
THTR 2461	Traditional	3	1	3	1	0	0	0	0	0	0	0	0	100%	100%
THTR 2813	Traditional	3	11	33	3	4	1	1	0	2	0	0	0	82%	73%



Office of Institutional Research and Assessment

Wind: WIND

Course		Credit hours	Enrolled	Credit Hours Generated	A	В	С	D	F	W	AW	AU	,	Completion	Success
WIND 1113	Total	3	6	18	6	0	0	0	0	0	0	0	0	100%	100%
	Traditional	3	4	12	4	0	0	0	0	0	0	0	0	100%	100%
	Online	3	-	-	-	-	-	-	-	-	-	-	-	-	-
	Virtual	3	2	6	2	0	0	0	0	0	0	0	0	100%	100%
	ITV	3	-	-	-	-	-	-	-	-	-	-	-	-	-
WIND 1122	Traditional	3	5	15	5	0	0	0	0	0	0	0	0	100%	100%
<b>WIND 2313</b>	Total	3	4	12	4	0	0	0	0	0	0	0	0	100%	100%
	Traditional	3	3	9	3	0	0	0	0	0	0	0	0	100%	100%
	Online	3	-	-	-	-	-	-	-	-	-	-	-	-	-
	Virtual	3	1	3	1	0	0	0	0	0	0	0	0	100%	100%
	ITV	3	-	-	-	-	-	-	-	-	-	-	-	-	-
<b>WIND 2313</b>	Total	3	3	9	3	0	0	0	0	0	0	0	0	100%	100%
	Traditional	3	2	6	2	0	0	0	0	0	0	0	0	100%	100%
	Online	3	-	-	-	-	-	-	-	-	-	-	-	-	-
	Virtual	3	1	3	1	0	0	0	0	0	0	0	0	100%	100%
	ITV	3	-	-	-	-	-	-	-	-	-	-	-	-	-